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The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)

1x10=10

ot SR Tew vt 2 (r2bre)
(i) The full form of IFRS is
IFRS 3 3= iy 2

I

() IASB stands for Indian Accounting
Standard Board.

(State whether the statement is true or Jfalse)
IASB ¥t SRSH fREIoR<e s @6 |
(¥% & eg f3))
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(iii) Accounting Standard is mandatory for (vii) Banking companies are

: : governed by the
(Fill in the blanks) Banking Regulation Act,
Fill in the bl
3 3 BpIR RS ORET | - ( anks)
(T 31 77 ) ﬂ%ﬁs‘ CRIAIPRER ={R51TS 2 casf R
i VT VAL (e 2% e ey
(iv) In case of compulsory winding up (viii) What is surrend
liquidator is appointed by court. i eénder value in ljfe
is true or false,
(State whether the statement is true or f ) S s sl Sowedy
BIENSNGES IEATTE CFAO9 N AG[AS] W;;;S (lx) .
te on bills di .
frfe fa (Refecsl o @ SIS ) ol ; Iscounted for a b
company is an income, anking
(v) A contributory il winding up of a (State whether the statement is trye or false)
Company 1S a credltOI‘. ;TTE’W ﬁaﬁ @@ @o\ﬁsg ‘Ef
(State whether the statement is true or false) 3

q
(R o @ wom ey

@I SR (RIS SR @ Gew () COTI.'lmI'SSiOn‘on reinsurance ceded ;
AN | (Rqfecs! va 1 orm ferdl) an income. is
Stat :
(vi) As per section 17 of the Banking (State whether the statement is true or Jalse)
Regulation Act, every bank has to A T DT <GB oy |
transfer % of profit to (

0l 8% (H wSE f&3)y)

(xi) Face value of the investment is always

statutory reserve fund.

(Fill in the blanks) €qual to the capita] va]

ue.
(e FafEe S 17 4191 SR 2ot Qs (State whether the Statement is trye or Jalse)
AR oI Ao offe R WW%WWW@
A A (I 5 7 ) = (RIRT 5% 1 v oy
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(xii) What is reinsurance ?

s 6 2

(xiii) The first item in order of payment to

be made by liquidator is — .
(Fill in the blanks

S AR T IITeRTS SARe

SIfeiela 2ol 2e '
(3eT! A% 279 F)

(xiv) What is the meaning of cum-interest
in Investment Accounts ?

et fZbiee Joee (cum-interest) N
&2

(xv) Profits earned during the pre-
incorporation period are transferred to
(Fill in the blanks)

AF-TFTE T SO & WG FEE
10 c IR 1 |\ i 2 | e
| (71 212 279 F91)

Answer the following questions: (any five)
2x5=10

weTe WA ©ed 1 ¢ (Rizaican #fi5519)
(@) What is Accounting Standard ?
feplom e & 2
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[ —

(b)

(c)

@

(e)

()

(h)
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What is winding up of companies ?
PR SRR i & 2

Mention two distinctions between IFRS
and Ind AS.

IFRS W% Ind AS I WiTrs & 70 ALy
T 40|

What is XBRL filling ?
XBRL oif¥sfze & ¢

What are non-performing assets ?

SHPRE TS i 2

Who are the preferential creditors in
respect of winding up of companies ?

@I SR (FaS SaliifeR T@
AW (T 2

Mention any two features of Investment
Accounting.

Rt it Ricernr 761 @iy S w1

What is profit or loss prior to
incorporation ?

UR-IATE RN T A (FIFHW W B
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3.

Answer the following questions as directed :

(any four)

5x4=20

were fiat el o SR e e g
(Rizeizat 519519)

(@)

(b)

()

(d)

(e)

Give an overview of Accounting
Standard in India. :

IRICEEE IR L Sl C s OO e e
yiees fim |

Write a note on IASB.
IASBT 697 @Bl (Bt foralp |

How is profit or los

. ‘ S made prior to
Incorporation treated

in accounts ?
AF-TANGE T TS~ EIRR Rty 70
@S T4 7 fovay

State the features of liquidator’s Final

Statement of Account,

el :

Point out the feature

>oin S of accounts of
life insurance compa

nies,

TR i
T W%%W‘@
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(9)

(h)

Mention the statutory books to be
maintained by banking companies.

QR @bz [t RmE @ EE

RIS O F e 41 |

Write a short note on Valuation Balance
Sheet in

companies.

respect of insurance

Explain the special features of bank
book-keeping.

QT ot e wiReEnR ok <=1

Answer the following as directed : (any four)

(a)
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10x4=40

Tiskon Ltd. went into voluntary
liquidation having the following
liabilities :

Tiskon Ltd. &te fai Wﬁ‘{im @ﬁs@s
SRAR GOITE 3 '

Unsecured creditors

% 85,000
SRR “eamT
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Secured creditors ¥ 58,000 (realisable
value of securities ¥ 65,000)

QIR #leqms 58,000 531 (e TIE
SIMEET 25 65,000 B

Preferential creditors ¥ 15,000
STRTE sfemrergg

8% Debentures 718,000
8% Aojorg

Liquidation €xpenses 7200

»
_ I.EIR a
The liquidator is entitled toets
femuneration of 39% on the asS nt
realised and of 5% on the amoY
distributed tq unsecured creditors-

T R st 30 s GFAREH

IR Ry 71 e o7 5%
T R o
Various assets (excluding the securitiey

eld by S€cured creditors) realiSEd
¥84,000,

%W(WWWW@WW

WWWﬁ)ﬁ@?{ﬂﬁ 84,000 B M

CoAR ape |

(b)

(c

(d)

Prepare Liquidator’s Final Statement of
Account showing the proportion paid
to unsecured creditors. 10

SRPIR RUIG f251v RYfS erge ok wiftmRign
AT Sy it e weire By <R
€A |

Discuss the scope and process of
issuing IFRS in India. 10

SIIeI¥® IFRS RFR Rew o= o
D 51 |

What is Corporate Annual Report of a

company ? Explain its needs and

objectives, 4+6=10

Write a background of convergence of
Indian Accounting Standard with IFRS.

10
SRS 147 TNz IFRS 1 NS
GG P57 @oTw iy COrl fovalt |
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() What are different modes of winding

up of a company ? Describe the powers
of the liquidator under compulsory
winding up of companies. 3+7=10

SRR Rfen srgeenE & /2 @
TCEEF TIATAT (Fq® AT SIATIA
TFACITR SO 73 |

From the following information, prepare
a Profit and Loss Account of United

Bank of India for the year ended on
31st March, 2022 : 10

T SR 2, United Bank of India 3
31 M5, 2022 SIR<S ST@sia TCBR A G4
e-CFI f=piol ervge i 8

%
Interest on loans 4,70,000
YR @5 7o
Commission 1,54,000
TS|
Interest on fixed deposits 5,34,000
T &N @ve o
Discount on bills
discounted (Gross) 3,40,000

AT IR o 751 ()
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_

Interest on cash credits
(B (6T 8o Jo
Interest on overdraft
TORYIT0Y 89S O

Rent and taxes

Olel U T

Sundry charges (Dr)
fify == (CoR)

Payment to employees

IR Aty

Interest on S/B accounts
S/B 171 es7% 7o
Director’s fees

AR THeT
Locker’s rent

TR o]

Depreciation

SRR |

ATM rhaintenance charges
ATM B3l 495

Rebate on bills discounted
Ret A= esige @
Provision for taxation

RIEEE I ()
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4,46,000

3,50,000

30,000

10,000

1,00,000

60,000

5,000

40,000

2,000

1,000

12,000

30%
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(g) From the following particulars, prepare

a Fire Revenue Account of FRJ
Insurance Co. Ltd. for the year ended
on 31st March, 2022 : 10

weTe OUPRRS A9 FRJ Insurance Co.
Ltd. 9 2022 51 31 wifw swesiqr BIPS[ATR
AR w2 ez Boiot s < 2

¥

Reserve for unexpired
risk on 1-4-2021 2,56,000
1-4-2021 ©ifs g
G AR Ay
Additional reserve
on 1-4-2021 40,000
1-4-2021 wiffs
wfoe wom sy
Claims paid 3,60,000
wIY AR
Management expenses 1,20,000

GRS
Premiums 5,40,000
Interest and dividends 90,000
O TS Ty
Income tax deducted
on above 3,000
T OIRe TR @siqw SR
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(h)

45,000

Reinsurance premium

oI ferfsmsT

Profit on sale of investments 10,000
IRIG[€IR

Legal charges regarding

claims 2,000
7T AIRFS SEaTe WY

Reinsurance claims received 14,200
SR Tl i

Commission on direct 52,000
business

e I 8oTO TREq |

its reserve for
The company calculates i1
unexpired risks at 50% of the net
premium each year.
#ff® T7 @RI 7 RS (IR AT
[ 4o fARRNT e 50% offer @ g |

Consider the following information
taken from the records of Das Ltd.:

Das Ltd. ¥ 7@ ~{1 wore i weipmz
RIGIRIRIR
(i) The company had a balance of 5%

Government Bonds of ¥5,00,000
(Cost ¥ 4,80,000) as on 31.12.2020.

(TSI 31.12.2020 wiRys
5,00,000 B (I3 3 4,80,000 T=51)
5% RIS @[S Tge ol |
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(ii) Interest was receivable on April 1
and October 1 each year.

ofS @ 1 @fee o 1 =3 wilkee
TS 2l i |

(i) The company received interest up
to October 1, 2020.

ARIOIE 2020 577 1 STI[STHA
vl R | e

(iv) On July 1, 2021 the company
further purchased bonds of
¥ 1,50,000 at a cost of ¥ 1,70,000.

2021 wamvsﬁi T 1 wifye
4 %99 1,50,000 B

1,70,000 357 AATEF (@@ w7 R |

(v) On October 15, 2021 bonds worth
¥ 1,80,000 were sold for ¥ 1,70,000.

2021 5 15 S3RTS 1,80,000 T
@I% 1,70,000 T [ e |

You are required to prepare Investment
Account for the year ended on 31st
December, 2021 valuing investment on
average cost basis. Ignore brokerage.

10
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()

Moon Ltd. was incorporated on July 1,
2021 to acquire a running business with
effect from 1.4.2021. The accounts of
the company for the year ended on 31st
March, 2022 disclosed the following:

2021 59 GER Biff¥s Moon Ltd. SEAg® (2f&
1.4.2021. SIfF¥R o€ I @RI 40! 5eT%
I e $RAE 31 W6 20229 @HAHIGE

351751 #[1 wor SAPTR (oAl C2fee ¢

(i) There was a gross profit of
7 1,50,000.
@GR 5 sred oAfamd ifes
1,50,000 5 |

(i) Sales for the year amounted to
¥6,00,000 of which ¥1,20,000
were for the first six months.

IHER Rl 6,00,000 Tt =nfeet wi=
3@ 1,20,000 Gt 2T T WZS 0= |

(i) Expenses debited to Profit and
Loss Account were as follows :

G (FNITHI f251ofS (BfRE (T 4 WPTRR
T GG §999 ¢
Director’s fees ¥9,000
TP Wpel
Bad debts 71,800
SRR 4
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Advertising
(contract amount

per month ¥ 500) ¥ 6,000
et

(FF© 500 5t fpiore bieaa )

Salaries ¥ 32,000
LERE

Preliminary expenses
written off ¥ 5,000

maf@asmﬁwvtmm

Donation to political party
paid by the company ¥ 4,000

W:fﬁ-mwm@zm@
M Tz v

Prepare a statement showing the
amount of profit made before and after

incorporation_ 10
SRS TR e % o siven «ifmel
TR 43 R e

() Explain man

Report of a co
>N i
?ﬁﬁ]@%asa?m
41|

Mpany, 10
WS By wfRame
SIS CRRIETRS etemeiorgea <yt

_'_-_‘—-—-_.__
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